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1 To Motion 9 1,11 089 067 1,11 089 0,89 0
2 From Motion 11 0 091 0,73 091 0 0,73 091
3 From Defect 8 1,25 1 1,25 0,75 1,25 0 1
4 From Motion 11 0 091 0,73 091 0 0,73 0,91
5 From Motion 11 0 091 0,73 091 0 0,73 091
6 From Defect 8 1,25 1 1,25 0,75 1,25 0 1
7  From Process 7 1,14 086 086 1,14 0 1,43 0,86
8 To Waiting 5 1,6 0 1,6 2 1,6 1,2 2
9 From Waiting 7 1,14 1,14 1,14 0 0 0 1,43
10 From Transportation 4 2 2 2,5 2 2,5 0 2
11 From Inventory 6 167 167 133 133 1,33 0 0
12 From Inventory 6 167 167 133 133 133 0 0
13 From Defect 8 1,25 1 1,25 0,75 1,25 0 1
14 From Inventory 6 167 167 133 133 133 0 0
15 From Waiting 8 1 1 1 0 0 0 1,25
16 To Defect 4 1,5 2 2,5 2 2,5 15 2
17 From Defect 8 1,25 1 1,25 0,75 1,25 0 1
18 From transportation 4 2 2 2,5 2 2,5 0 2
19 To Motion 9 1,11 089 067 1,11 089 0,89 0
20 From Waiting 8 1 1 1 0 0 0 1,25
21 From Motion 11 0 091 0,73 091 0 0,73 091
22 From Transportation 4 2 2 2,5 2 2,5 0 2
23 From Defect 8 1,25 1 1,25 0,75 125 0 1
24 From Motion 11 0 091 0,73 091 0 0,73 091
25 From Inventory 6 167 167 133 133 1,33 0 0
26 From Inventory 6 167 167 133 133 1,33 0 0
27 To Waiting 5 1,6 0 1,6 2 1,6 1,2 2
28 From Defect 8 1,25 1 1,25 0,75 125 0 1
29 From Waiting 8 1 1 1 0 0 0 1,25
30 From Overproduction 3 3,33 2,67 2 3,33 2 0 2,67
31 To Motion 9 1,11 089 067 1,11 089 0,89 0
32  From Process 7 1,14 086 086 1,14 0 1,43 0,86
33 To Waiting 5 1,6 0 1,6 2 1,6 1,2 2
34 From Process 7 1,14 086 086 1,14 0 1,43 0,86
35 From Transportation 4 2 2 2,5 2 2,5 0 2
36 To Motion 9 1,11 089 067 1,11 089 0,89 0
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37 From Overproduction 3 3,33 2,67 2 3,33 2 0 2
38 From Waiting 8 1 1 1 0 0 0 1,25
39 From Waiting 8 1 1 0 0 0 1,25
40 To Defect 4 1,5 2 2,5 2 2,5 1,5 2
41 From Waiting 8 1 1 0 0 0 1,25
42 To Motion 9 1,11 089 067 1,11 089 0,89 0
43 From Process 7 1,14 086 086 1,14 0 1,43 0,86
44  To Transportation 3 2 2,67 3,33 0 3,33 0 0
45 From Motion 11 0 091 0,73 091 0 0,73 0,91

46 From Waiting 8 1 1 1 0 0 0 1,25

47 To Motion 9 1,11 089 067 1,11 0,89 0,89 0
48 From Defect 8 1,25 1 125 0,75 1,25 0 1
49 To Defect 4 1,5 2 2,5 2 2,5 15 2
50 From Motion 11 0 091 0,73 0,91 0 0,73 091
51 From Defect 8 1,25 1 125 0,75 1,25 0 1
52 From Motion 11 0 091 0,73 0,91 0 0,73 091

53 To Waiting
54  From Process
55 From Process
56 To Defect

1,6 0 1,6 2 1,6 1,2 2
1,14 086 086 1,14 0 1,43 0,86
1,14 086 086 1,14 0 1,43 0,86
1,5 2 2,5 2 2,5 1,5 2
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57 From Inventory 167 167 133 133 1,33 0 0
58 To Transportation 2,67 3,33 0 3,33 0 0
59 To Motion 1,11 089 067 1,11 089 0,89 0
60 To Transportation 2 2,67 3,33 0 3,33 0 0
61 To Motion 1,11 089 067 1,11 089 0,89 0
62 To Motion 1,11 089 067 1,11 089 0,89 0
63 From Motion 11 0 091 0,73 091 0 0,73 091
64 From Motion 11 0 091 0,73 091 0 0,73 0,91
65 From Motion 11 0 091 0,73 091 0 0,73 091
66 From Overproduction 3 3,33 2,67 2 3,33 2 0 2
67 From Process 7 1,14 086 086 1,14 0 1,43 0,86
68 From Defect 8 1,25 1 1,25 0,75 1,25 0 1
Score (S)) 83,79 83,14 89,79 76,75 69,65 36,80 65,85

Frequency (Fj) 57 64 68 57 42 35 50
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1 To Motion 05 045 05 075 045 0,56 0,56 0
2 From Motion 1 0 1,1 138 11 0 1,38 11
3 From Defect 1 0,8 1 08 133 08 0 1
4 From Motion 1 0 1,1 138 11 0 1,38 11
5 From Motion 1 0 11 138 11 0 1,38 1,1
6 From Defect 1 0,8 1 08 133 08 0 1
7 From Process 1 0,88 1,17 117 0,88 0 0,7 1,17
8 To Waiting 1 0,63 0 063 05 063 083 05
9 From Waiting 1 0,88 0,88 0,88 0 0 0 0,7
10 From Transportation 0 0 0 0 0 0 0 0
11  From Inventory 1 06 06 075 0,75 0,75 0 0
12 From Inventory 1 0,6 06 075 0,75 0,75 0 0
13 From Defect 0 0 0 0 0 0 0 0
14 From Inventory o5 03 03 038 03 0,38 0 0
15 From Waiting 0 0 0 0 0 0 0 0
16 To Defect 0 0 0 0 0 0 0 0
17 From Defect 0 0 0 0 0 0 0 0
18 From transportation 0 0 0 0 0 0 0 0
19 To Motion 05 045 05 075 045 0,56 0,56 0
20 From Waiting 1 1 1 1 0 0 0 0,8
21 From Motion 1 0 11 138 11 0 1,38 1,1
22 From Transportation 1 05 05 04 05 0,4 0 0,5
23 From Defect 1 0,8 1 08 133 0,8 0 1
24 From Motion 1 0 11 138 11 0 1,38 1,1
25 From Inventory 05 03 03 038 038 0,38 0 0
26 From Inventory 05 03 03 038 0,38 0,38 0,00 0
27 To Waiting 1 0,63 0 063 05 063 083 05
28 From Defect 1 0,8 1 08 133 0,8 0 1
29 From Waiting 05 05 05 05 0 0 0 0,4
From
30 Overproduction 0 0 0 0 0 0 0 0
31 To Motion 1 09 113 15 09 113 113 0
32 From Process 1 0,88 1,17 1,17 0,88 0 0,7 117
33 To Waiting 1 0,63 0 063 05 063 083 05
34 From Process 1 0,88 1,17 1,17 0,88 0 0,7 117
35 From Transportation 1 0,5 0,5 0,4 0,5 0,4 0 0,5
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36 To Motion 1 09 113 15 09 113 113 0
g7 From . 1 03 038 05 03 05 0 05
Overproduction
38 From Waiting 05 05 050 05 0 0 0 0,4
39 From Waiting 1 1 1 1 0 0 0 0,8
40 To Defect 1 067 05 04 05 04 067 05
41 From Waiting 05 05 05 05 0 0 0 0,4
42 To Motion 05 045 05 075 045 0,56 0,56 0
43 From Process 1 0,88 1,17 1,17 0,88 0 0,7 1,17
44 To Transportation 1 05 1038 0,3 0 0,3 0 0
45 From Motion 1 0 11 138 11 0 1,38 1,1
46 From Waiting 1 1 1 1 0 0 0 0,8
47 To Motion 109 113 15 09 1138 g5 0
48 From Defect 1 0,8 1 08 133 0,8 0 1
49 To Defect 1 067 05 04 05 04 067 05
50 From Motion 1 0 11 138 11 0 138 11
51 From Defect 1 0,8 1 08 133 10,8 0 1
52 From Motion 1 0 11 138 11 0 138 11
53 To Waiting 1 063 0 063 05 063 083 05
54 From Process 1 08 1,17 1,17 0,88 0 0,7 1,17
55 From Process 05 044 058 058 044 0 0,35 0,58
56 To Defect 1 067 05 04 05 04 067 05
57 From Inventory 1 06 06 075 0,75 0,75 0 0
58 To Transportation 1 05 1038 0,3 0 0,3 0 0
59 To Motion 1 09 113 15 09 113 113 0
60 To Transportation 1 05 1038 0,3 0 0,3 0 0
61 To Motion 0 0 0 0 0 0 0 0
62 To Motion 1 09 113 15 09 113 113 0
63 From Motion 1 0 11 138 11 0 138 11
64 From Motion 1 0 11 138 11 0 1,38 1,1
65 From Motion 1 0 11 138 11 0 1,38 1,1
66 From . 05 015 019 025 015 025 0 025
Overproduction
67 From Process 1 08 1,17 1,17 0,88 0 0,7 1,17
68 From Defect 1 0,8 1 08 133 0,8 0 1
Score (Sj) 32,6 46,2 529 413 224 323 36,2
6 6 6 0 4 2 3
Frequency (Fj) 49 56 60 50 35 33 43
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